NTERADHB(HEBERFH
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K4

1) ROC DIZABHEFEEELGSL, (AR X5E=20:)

1) 18=( EfE
2) 1t=( kg
3)  1km=( m
4) 1kL=( )L

5) 3EE15% +4KREI38% =( DEFE(
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45— ZER—9H —1:8— KBE A
K4
2) RO( DIZAIHEFEEEHE, (4R X58=205)
1)  1ER=( )5
2) 1keg=( )g
3) Tm Jem
4) 1L )dL

5) 3t753kg—2t364kg=( )1(

kg



NTERADHB(HEBERFH

45— ZER—9H —1:8—KEE A
K4
3) RD( DIZAZHFEEZLIL, (AR X5E=20)
1) 149=( )
2) 1g=( Jmg
3) 1cem=( Jmm
4) 1L=( ymL

5) 4km843m+3km786m=( Ykm(

m



NTERADHB(HEBERFH
49 —rh2RER—9R —1:8—KBE A
K4

4) RO(C DIZABBFEEELEL,. (4R X5E=201)

1) 18=( )5
2) 1t=( )g

3) 1km=( Jem
4) 1dL=( JmL

5) 3kL58L—1kL583L=( JkL(



NTERADHB(HEBERFH
A —rh2RER—-9R —1:8—&IE A
K4

5) RDO( DIZAZBFEEELEIL, (4R X5E=201)

1) 18=( Dk
2) 1t=( Jmg
3) 1m=( Jmm
4) 1kL=( )dL

5) 4B[E514929% + 3K/27 952
=( YEFRE( )5 ( Y



NTERADHB(HEBERFH
A —thZZEBR—9A— 18

1) ARE—@E (45 X58) A B

1) 24 2) 1000 3) 1000 4) 1000 5) 7,53
2) KIE—MRE (4R x5H) A B

1) 60 2) 1000 3) 100 4) 10 5) 1,389
3) KiEg—EE (4R x5%8) A B

1) 60 2) 1000 3) 10 4) 1000 5) 8,629

4) KIE—RRE (4R x5H) A B

1) 1440 2) 1000000 3) 100000 4) 100 5) 1,475

5) &IE—ME (4R Xx5H) A B

1) 86400 2) 1000000000 3) 1000 4) 10000 5) 8,19, 21



